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GCSE 9-1 Foundation
Practice Paper

SetB

Paper 2 - Calculator

Ay

CorbettmOtths

Equipment

1. A black ink ball-point pen.
2. A pencil.

3. An eraser.

4. Aruler.

5. A pair of compasses.

6. A protractor.

7. A calculator

Guidance

1. Read each question carefully.

2. Don'’t spend too long on one question.
3. Attempt every question.

4. Check your answers seem right.
5. Always show your workings

Information

1. Time: 1 hour 30 minutes

2. The maximum mark for this paper is 80.

3. You may use tracing paper.

© CORBETTMATHS 2019

N
-~

Total

.
Question ' Mark Available

1 | 1
2 - 1
3 1
4 1
5 | 1
6 | 2
7 2
8 1
9 4
10 3
11 3
12 2
13 4
14 4
15 3
16 | 2
17 | 4
18 ! 3
19 | 4
20 | 6
21 2
22 4
23 6
24 5
25 3
26 4

4

80




- Write down the value of the 8 in the number 724.81

2. List the first three square numbers

3. (a) Change 8200ml into litres

(1)
(b) Change 0.3km into metres
....... 200  ..m
(1)
4. Work out 0.73
LR
(1)
5. Write 82% as a fraction
B o S
Two S0
(1)
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o T S )
8 4 20 5

Arrange these fractions in order, starting with the smallest.

5;.'8—_ OGQS

W, . o:SY
2o
3, -~ O 6
S \ S 5
bRl T e e
(2)
% (@) Simplify 5w — 3w + 9w
| w
(1)
(b) Simplify b X8 Xa
sl
(1)
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8. A map has a scale of 1cm : 20 kilometres.
The actual distance between two cities is 153 kilometres.

What is the distance between the cities on the map?

153 =20 = 65

(1
9. A sequence of numbers is shown below.
1 5 9 13 17
(a) Find an expression for the nth term of the sequence.
T R
(2)
(b) Explain why 95 will not be a term in this sequence.
Hn-3=9s ULn:=98 N=24S
0. 35 @nillbe hWThesgporee
(2)

He d4thlom is 4x34-3-93
1y Gsthobas, i3 4wdS 8 = GF
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10. This function machine multiplies a number by 6 and then subtracts 80.

input ——{ Multiply by 6

Y

Subtract 80 ——— output

The input is the same as the output.
Find the input.

(3)
11.  During the last ten years, Oliver has played 1200 games of chess.
Oliver has drawn 6% of the games.
He has lost 33% of the games.
Calculate how many games of chess Oliver won.
B46=A
\w -3 - 6l
61 %t | :
| (ot 12QO =
3
(3)
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12. There are only pink, yellow, green and blue counters in a bag.

The table shows the probability that a counter taken at random from the bag
will be pink, green or blue.

Colour Pink Yellow Green Blue

Probability| 0.5 0. 0.1 0.2

Work out the probability that the counter taken is yellow

\- 08 ~-0.1~0. 2 =

()

13.  Shown below are five cards which are arranged in order from smallest to largest
/ s Rt
5| [ +| |#]| o] hi

*ﬂ.
The range of the cards is 6. )
The median of the cards is 7.

The mean of the cards is 8.

Work out the 4 missing numbers.

MM‘% So"bM: 40
4o ~t-3-S =1F

cor 5 6 F U 1l
(4)
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14. Cuboid A and Cuboid B have the same volume.

Cuneid A Cuboid B

6cm 40cm

30cm

Hhem 10cm

Calculate y, the missing height of cuboid B.

6 ¥Sxy4o = \RCO cm> (yolome o lt)

IRco ~(lox3) = 4

O]

15. Acaris travelling at 40 kilometres per hour.
The car increases its speed to 56 kilometres per hour.

Calculate the percentage increase in the speed of the car.
S6 -40 = 1§

ﬁyloo = 40
o

........................ (.3)
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16. Yi

w
e
(o2}
>

-6 -5 -4 -3 -3 -1 of 1

Describe fully the single transformation that maps shape A to shape B
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17.  5.5kg of plums and 2kg of peaches cost a total of £6.26
3.5 kg of plums cost £2.66

Work out the cost of 1kg of peaches.

lkg o plous Q36§ . £0 6

3 L4
S.Ske 4 plums o36xs.S = AHB

R6-4.18= 208
Qb peuch 626 #
e

18.  Ellie wants to decrease 860 by 23%.
She types 860 X 0.23 into her calculator.

(@) Explain why Ellie is wrong.

This onhj wo®s ot 3% 86

(b) Decrease 860 by 23%

Woxo.13 = 19+-8
Ko -1g338 =
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19. (a) Solve 5(x+3) =100

So 4 1S = Nole)
Sx = 8S
x = (3 x='? ...................
/f (2)
(b) Factorise fully 4y? — 6y
hQ (D ..... " 3
i
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20. & ={multiple of 3 between 1 and 29}
A={8, 3‘21,'87}
B=1{8,89% 1 15}
C={819, 1§ 1,21}

I

2t

(a) Complete the Venn diagram above

4)
A number is chosen at random from &

(b) Find the probability that the number is a member of B U C
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21. The scatter graph below shows information about the number of hours spent
revising for a test and the test result for a group of 8 students.

100
90 H- | H
80

70

Test score " 7 x X | L
(%) |

50
40 X
30 X

20

10

0 1 2 3 4 5 6 4 8 9

Time spent revising (hours)

Explain why it might not be sensible to use the scatter graph to estimate
the score for a student that spent 15 hours revising.

prom 1S hoots .
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22. BDE is a triangle

A

/N

Z.
C N

AB and CF are parallel lines.
BE = BD

Find the size of angle BEF.
Give reasons for your answer.

665 36 (a”%t\q{e o,,xe/q_g e e‘l))‘(/)
Dbe = B = 36" (issscalas triofe hes A aypald anefes)

bé\o < Ro -I6-16 =& (o.»glef A a "‘r\'o»de add ug.
kb 180°)
= Bo-28 = 152° (sagesona bne add up fo 130

(4)
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23. Raheem and Ben invest money in 2019.

Raheem invests £1000 at Banks’R’us, who pay 5% interest per year.
Ben invests £1150 at Bank World, who pay 1% interest per year

(a) In which year will Raheem’s investment be worth more than Ben’s?

' o5 #lIsH 63
ot 3yamy R 1000% |-08
- B Ilso xl-ol®= &8¢ 85

& 196.69

AL A
(4)
Bank World increase their rate of interest by 1%
(b) Does this affect your answer to part (a)?
R SO x .o} = #1210:39
4 R k1262 48
s U’% ...... O IR COUARRE IR NE R
o ey sl qtﬁe"”
(2)
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24. Afarm owns two identical fields.
Each field is a trapezium

80m

120m

70m

P

The farmer is going to plant a crop.

Each 8 kilogram bag of seed costs £19.99
60g of seed covers an area of 1m?2

The farmer has £575 to spend on seed.

Has the farmer got enough money to buy all the seed he needs to cover both
fields?

orea oy each fuld. - %o;lZOYgg = 35om2

ko) auen = Focowm®
Mgpue  FOUW X €0g = 4290009 = 4Aoky s sl
mﬂ)w-é 490-8=52.S S3 bags

®)
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20,

26.

The line passing through (1, p) and (5, 1) has a gradient of 5
Find the value of p.

_‘j-.—.s ;,\-P-ZO
5=

(3)
(a) Expand and simplify (7x — 3)(2x + 1)
14xt 3L -6x -3 =
4xl+x - 3
(2)
(b) Factorise x>+ 7x + 6
(x+6)(x+1)
(2)
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27. (a) Write the number 452000000 in standard form

4.5y 1O
(1)
(b) Write 2.8 X 107> as an ordinary number
0.0028
(1)
(b) Work out (9.5 x 10°)?
Give your answer correct to 2 significant figures
13
Q.00 "
()
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